Acta Universitatis Apulensis

No. 24/2010
ISSN: 1582-5329

pp. 295-306

A SUBCLASS OF UNIFORMLY CONVEX FUNCTIONS ASSOCIATED WITH A FRACTIONAL CALCULUS OPERATOR INVOLVING CAPUTO'S FRACTIONAL DIFFERENTIATION

Jamal Salah and Maslina Darus

Abstract. In this paper, we introduce a new class of functions which are analytic and univalent with negative coefficients defined by using certain fractional operators descibed in the Caputo sense. Characterization property, the results on modified Hadamard product and integral transforms are discussed. Further, distortion theorem and radii of starlikeness and convexity are also determined here.

Keywords: Caputo's differentiation operator; uniformly starlike; Hadamard product

1. Introduction

In recent years, considerable interest in fractional calculus operators has been stimulated due to their applications in the theory of analytic functions. There are many definitions of fractional integration and differentiation can be found in various books ([11]-[14]). For the purpose of this paper, the Caputo's definition of fractional differentiation will be used to introduce a new operator.

Denote by A the class of functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \tag{1}$$

which are analytic and univalent in the open disk $U = \{z : |z| < 1\}$. Also denote by T the subclass of A consisting of functions of the form

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n, a_n \ge 0.$$
 (2)

Perhaps, Silverman [10] was the first to define the class T. For further properties for the class T, see also [9].

A function $f \in A$ is said to be in the class of uniformly convex functions of order α , denoted by $UCV(\alpha)$ if

$$\Re\left\{1 + \frac{zf''(z)}{f'(z)} - \alpha\right\} \ge \beta \left| \frac{zf''(z)}{f'(z)} - 1 \right|. \tag{3}$$

And is said to be in a corresponding subclass of $UCV(\alpha)$ denoted by $S_p(\alpha)$ if

$$\Re\left\{\frac{zf'(z)}{f(z)} - \alpha\right\} \ge \beta \left|\frac{zf'(z)}{f(z)} - 1\right|,\tag{4}$$

 $-1 \le \alpha \le 1$ and $z \in U$.

The class of uniformly convex and uniformly starlike functions has been studied by Goodman, see ([2],[3]) and Ma and Minda [5]. If f of the form (1) and $g(z) = z + \sum_{n=2}^{\infty} b_n z^n$ are two functions in A. Then the Hadamard product of f and g is denoted by f * g and is given by

$$(f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n$$

$$(5)$$

Now we look at the Caputo's definition which shall be used throughout the paper.

Definition 1.[15] Caputo's definition of the fractional-order derivative is defined as

$$D^{\alpha}f(t) = \frac{1}{\Gamma(n-\alpha)} \int_{a}^{t} \frac{f^{(n)}(\tau)}{(t-\tau)^{\alpha+1-n}} d\tau$$
 (6)

where $n-1 < Re(\alpha) \le n, n \in N$, and the parameter α is allowed to be real or even complex, a is the initial value of the function f.

Definition 2. The generalization operator of Salagean[17] derivative operator and Libera integral operator [16], was given by Owa [6].

$$\Omega^{\lambda} f(z) = \Gamma(2-\lambda) z^{\lambda} D_z^{\lambda} f(z) = z + \sum_{n=2}^{\infty} \frac{\Gamma(2-\lambda)\Gamma(n+1)}{\Gamma(n-\lambda+1)} a_n z^n$$
, for any real λ .

Remark 1. We note that

$$\Omega^{0} f(z) = f(z) = z + \sum_{n=2}^{\infty} a_{n} z^{n},$$

$$\Omega^1 f(z) = \Omega f(z) = z f'(z) = z + \sum_{n=2}^{\infty} n a_n z^n$$

and

$$\Omega^{k} f(z) = \Omega(\Omega^{k-1} f(z)) = z f'(z) = z + \sum_{n=2}^{\infty} n^{k} a_{n} z^{n} \quad (k = 1, 2, 3...)$$

and this is the Salagean derivative operator [17].

Remark 2. We also note that

$$\Omega^{-1}f(z) = \frac{2}{z} \int_0^z f(t)dt = z + \sum_{n=2}^\infty \frac{2}{n+1} a_n z^n$$

and

$$\Omega^{-k}f(z) = \Omega^{-1}(\Omega^{-k+1}f(z)) = zf'(z) = z + \sum_{n=2}^{\infty} (\frac{2}{n+1})^k a_n z^n \quad (k = 1, 2, 3...)$$

and this is the Libera integral operator [16].

Now, using the previous definitions we can introduce the following operator:

$$J_{\eta,\lambda}f(z) = \frac{\Gamma(2+\eta-\lambda)}{\Gamma(\eta-\lambda)} z^{\lambda-\eta} \int_0^z \frac{\Omega^{\eta}f(\xi)}{(z-\xi)^{\lambda+1-\eta}} d\xi$$
 (7)

where η (real number) and $(\eta - 1 < \lambda \le \eta < 2)$.

By simple calculations we can write

$$J_{\eta,\lambda}f(z) = z + \sum_{n=2}^{\infty} \frac{(\Gamma(n+1))^2 \Gamma(2+\eta-\lambda) \Gamma(2-\eta)}{\Gamma(n+\eta-\lambda+1) \Gamma(n-\eta+1)} a_n z^n$$
 (8)

for $f(z) \in A$ and has the form (1).

Further, note that $J_{0,0}f(z) = f(z)$ and $J_{1,1}f(z) = zf'(z)$.

Now using the operator introduced in (7), we can define the following subclass of analytic function. For $-1 \le \alpha < 1$, a function $f \in A$ is said to be in the class $S_{\eta,\lambda}^*(\alpha)$ if and only if

$$\Re\left\{\frac{z\left(J_{\eta,\lambda}f\left(z\right)\right)'}{J_{\eta,\lambda}f\left(z\right)} - \alpha\right\} \ge \left|\frac{z\left(J_{\eta,\lambda}f\left(z\right)\right)'}{J_{\eta,\lambda}f\left(z\right)} - 1\right|, z \in U.$$

$$(9)$$

Now let's write $TR(\eta, \lambda, \alpha) = S_{\eta, \lambda}^*(\alpha) \cap T$.

Note that if $\eta = \lambda = 0$, we have

$$S_{\eta,\lambda}^{*}\left(\alpha\right) = S_{p}\left(\alpha\right).$$

And for $\eta = \lambda = 1$, we have

$$S_{\eta,\lambda}^{*}\left(\alpha\right) = UCV\left(\alpha\right).$$

The classes $S_p(\alpha)$ and $UCV(\alpha)$ are introduced and studied by various authors including [1],[7],and [8].

2. Characterization Property

Definition 3. A function f is in $TR(\eta, \lambda, \alpha)$ if f satisfies the analytic characterization

$$\Re\left\{\frac{z\left(J_{\eta,\lambda}f\left(z\right)\right)'}{J_{\eta,\lambda}f\left(z\right)} - \alpha\right\} > \left|\frac{z\left(J_{\eta,\lambda}f\left(z\right)\right)'}{J_{\eta,\lambda}f\left(z\right)} - 1\right|$$

$$(10)$$

where $0 \le \alpha < 1, \eta - 1 < \lambda \le \eta < 2$.

Theorem 1. A function f defined by (2) is in the class $TR(\eta, \lambda, \alpha)$ if and only if

$$\sum_{n=2}^{\infty} \frac{(\Gamma(n+1))^2 \Gamma(2-\eta) \Gamma(2+\eta-\lambda)}{\Gamma(n+\eta-\lambda+1) \Gamma(n-\eta+1)} \cdot \frac{2n-1-\alpha}{1-\alpha} |a_n| \le 1.$$
 (11)

Proof. It suffices to show that

$$\left| \frac{z \left(J_{\eta,\lambda} f\left(z\right) \right)'}{J_{\eta,\lambda} f\left(z\right)} - 1 \right| \leq \Re \left\{ \frac{z \left(J_{\eta,\lambda} f\left(z\right) \right)'}{J_{\eta,\lambda} f\left(z\right)} - \alpha \right\}$$

and we have

$$\left| \frac{z(J_{\eta,\lambda}f(z))'}{J_{\eta,\lambda}f(z)} - 1 \right| \le \Re \left\{ \frac{z(J_{\eta,\lambda}f(z))'}{J_{\eta,\lambda}f(z)} - 1 \right\} + (1 - \alpha)$$

that is

$$\left| \frac{z \left(J_{\eta,\lambda} f(z) \right)'}{J_{\eta,\lambda} f(z)} - 1 \right| - \Re \left\{ \frac{z \left(J_{\eta,\lambda} f(z) \right)'}{J_{\eta,\lambda} f(z)} - 1 \right\} \le 2 \left| \frac{z \left(J_{\eta,\lambda} f(z) \right)'}{J_{\eta,\lambda} f(z)} - 1 \right| \le \frac{\sum_{n=2}^{\infty} (n-1)\phi(n) |a_n|}{1 - \sum_{n=2}^{\infty} \phi(n) |a_n|}$$

where

$$\phi(n) = \frac{(\Gamma(n+1))^2 \Gamma(2+\eta-\lambda)\Gamma(2-\eta)}{\Gamma(n+\eta-\lambda+1)\Gamma(n-\eta+1)}.$$

The above expression is bounded by $(1-\alpha)$ and hence the assertion of the result.

Now we want to show that $f \in TR(\eta, \lambda, \alpha)$ satisfies (11) if $f \in TR(\eta, \lambda, \alpha)$, then (10) yields

$$\frac{1 - \sum_{n=2}^{\infty} n\phi(n) a_n z^{n-1}}{1 - \sum_{n=2}^{\infty} \phi(n) a_n z^{n-1}} - \alpha \geq \frac{1 - \sum_{n=2}^{\infty} (n-1)\phi(n) a_n z^{n-1}}{1 - \sum_{n=2}^{\infty} \phi(n) a_n z^{n-1}}.$$

Letting $z \to 1$ along the real axis leads to the inequality $\sum_{n=2}^{\infty} (2n - 1 - \alpha) \phi(n) a_n \le 1 - \alpha$.

Corollary 1. Let a function f, defined by (2) belongs to the class $TR(\eta, \lambda, \alpha)$. Then

$$a_n \le \frac{\Gamma(n+\eta-\lambda+1)\Gamma(n-\eta+1)}{(\Gamma(n+1))^2\Gamma(2+\eta-\lambda)\Gamma(2-\eta)} \cdot \frac{1-\alpha}{2n-1-\alpha}, for \ n \ge 2.$$

Next we consider the growth and distortion theorems for the class $TR(\eta, \lambda, \alpha)$. We shall omit the proof as the techniques are similar to various other papers.

Theorem 2. Let the function f, defined by (2) be in the class $TR(\eta, \lambda, \alpha)$. Then

$$|z| - |z|^{2} \frac{(2 + \eta - \lambda)(2 - \eta)(1 - \alpha)}{4(3 - \alpha)} \le |J_{\eta,\lambda}f(z)| \le |z| + |z|^{2} \frac{(2 + \eta - \lambda)(2 - \eta)(1 - \alpha)}{4(3 - \alpha)} (12)$$

$$1 - |z| \frac{(2 + \eta - \lambda)(2 - \eta)(1 - \alpha)}{2(3 - \alpha)} \le |(J_{\eta, \lambda} f(z))'| \le 1 + |z| \frac{(2 + \eta - \lambda)(2 - \eta)(1 - \alpha)}{2(3 - \alpha)} (13)$$

The bounds (12) and (13) are attained for the functions given by

$$f(z) = z - \frac{(2 + \eta - \lambda)(2 - \eta)(1 - \alpha)}{4(3 - \alpha)}z^{2}.$$
 (14)

Theorem 3. Let a function f, be defined by (2) and

$$g(z) = z - \sum_{n=2}^{\infty} b_n z^n \tag{15}$$

be in the class $TR(\eta, \lambda, \alpha)$. then the function h, defined by

$$h(z) = (1 - \beta) f(z) + \beta g(z) = z - \sum_{n=2}^{\infty} c_n z^n$$
 (16)

where $c_n = (1 - \beta) a_n + \beta b_n$, and $0 \le \beta \le 1$, is also in the class $TR(\eta, \lambda, \alpha)$.

Proof. The result follows easily by using (11) and (16).

Now we define the following functions $f_{j}\left(z\right),\left(j=1,2,3,....m\right)$ of the form

$$f_j(z) = z - \sum_{n=2}^{\infty} a_{n,j} z^n, a_{n,j} \ge 0, z \in U.$$
 (17)

Theorem 4. (Closure theorem) Let the functions $f_j(z)$, (j = 1, 2, 3,m) defined by (16), be in the class $TR(\eta, \lambda, \alpha_j)$ (j = 1, 2, 3,m) respectively. Then the function h(z) defined by $h(z) = z - \frac{1}{m} \sum_{n=2}^{\infty} \left(\sum_{j=1}^{m} a_{n,j} \right) z^n$

is in the class $TR(\eta, \lambda, \alpha)$ where

$$\alpha = \min_{1 \le j \le m} \{\alpha_j\} \, with 0 \le \alpha_j < 1. \tag{18}$$

Proof. Since $f_j \in TR(\eta, \lambda, \alpha_j)$ (j = 1, 2, 3,m) by applying Theorem 1, we observe that

$$\sum_{n=2}^{\infty} \phi(n) (2n - 1 - \alpha) \left(\frac{1}{m} \sum_{j=1}^{m} a_{n,j} \right) = \frac{1}{m} \sum_{j=1}^{m} \left(\sum_{n=2}^{\infty} \phi(n) (2n - 1 - \alpha) a_{n,j} \right).$$

In view of Theorem 1 again implies that $h(z) \in TR(\eta, \lambda, \alpha)$.

3. Results involving convolution

Theorem 5. For functions $f_j(z)$ (j = 1, 2) defined by (17) let $f_1(z) \in TR(\eta, \lambda, \alpha)$ and $f_2(z) \in TR(\eta, \lambda, \beta)$. then $f_1 * f_2 \in TR(\eta, \lambda, \gamma)$, where

$$\gamma \le 1 - \frac{2(n-1)(1-\alpha)(1-\beta)}{(2n-1-\alpha)(2n-1-\beta)\phi(n) - (1-\alpha)(1-\beta)},\tag{19}$$

$$n \geq 2 \ and \ \phi\left(n
ight) = rac{(\Gamma(n+1))^2\Gamma(2+\eta-\lambda)\Gamma(2-\eta)}{\Gamma(n+\eta-\lambda+1)\Gamma(n-\eta+1)}$$

Proof. In view of Theorem 1, it suffices to prove that

$$\sum_{n=2}^{\infty} \frac{2n-1-\gamma}{1-\gamma} \phi(n) \, a_{n,1} a_{n,2} \le 1.$$

It follows from Theorem 1 and the Cauchy-Shwarz inequality that

$$\sum_{n=2}^{\infty} \frac{\sqrt{2n-1-\alpha} \cdot \sqrt{2n-1-\beta}}{\sqrt{(1-\alpha)(1-\beta)}} \phi\left(n\right) \sqrt{a_{n,1}a_{n,2}} \le 1.$$

Thus we need to find γ such that

$$\sum_{n=2}^{\infty} \frac{2n-1-\gamma}{1-\gamma} \phi\left(n\right) a_{n,1} a_{n,2} \le \sum_{n=2}^{\infty} \frac{\sqrt{2n-1-\alpha} \cdot \sqrt{2n-1-\beta}}{\sqrt{(1-\alpha)(1-\beta)}} \phi\left(n\right) \sqrt{a_{n,1} a_{n,2}} \le 1$$

or

$$\sqrt{a_{n,1}a_{n,2}} \le \sum_{n=2}^{\infty} \frac{\sqrt{2n-1-\alpha} \cdot \sqrt{2n-1-\beta}}{\sqrt{(1-\alpha)(1-\beta)}} \cdot \frac{1-\gamma}{2n-1-\gamma}$$

by virtue of (19), it suffices to find $\phi(n)$ such that

$$\frac{\sqrt{\left(1-\alpha\right)\left(1-\beta\right)}}{\sqrt{2n-1-\alpha}\sqrt{2n-1-\beta}\phi\left(n\right)} \leq \frac{\sqrt{2n-1-\alpha}\sqrt{2n-1-\beta}}{\sqrt{\left(1-\alpha\right)\left(1-\beta\right)}} \cdot \frac{1-\gamma}{2n-1-\gamma}$$

which yield

$$\gamma \le 1 - \frac{2(n-1)(1-\alpha)(1-\beta)}{(2n-1-\alpha)(2n-1-\beta)\phi(n) - (1-\alpha)(1-\beta)}, n \ge 2.$$

Theorem 6. Let the functions $f_j(z)$, (j = 1, 2) defined by (16) be in the class $TR(\eta, \lambda, \alpha)$. Then $(f_1 * f_2)(z) \in TR(\eta, \lambda, \delta)$ where $\delta \leq 1 - \frac{2(n-1)(1-\alpha)^2}{(2n-1-\alpha)^2\phi(n)-(1-\alpha)^2}$

Proof. By taking $\beta = \alpha$ in the above theorem, the result follows.

Theorem 7. Let the function f defined by (2) be in the class $TR(\eta, \lambda, \alpha)$, and let $g(z) = z - \sum_{n=2}^{\infty} b_n z^n$, for $|b_n| \le 1$. Then $(f * g)(z) \in TR(\eta, \lambda, \alpha)$.

Proof.

$$\sum_{n=2}^{\infty} \phi(n) (2n - 1 - \alpha) |a_n b_n| = \sum_{n=2}^{\infty} \phi(n) (2n - 1 - \alpha) a_n |b_n|$$

$$\leq \sum_{n=2}^{\infty} \phi(n) (2n - 1 - \alpha) a_n \leq 1 - \alpha.$$

Hence it follows that $(f * g)(z) \in TR(\eta, \lambda, \alpha)$.

Corollary 2. Let the function f defined by (2) be in the class $TR(\eta, \lambda, \alpha)$. Also let $g(z) = z - \sum_{n=2}^{\infty} b_n z^n$ for $0 \le b_n \le 1$. Then $(f * g)(z) \in TR(\eta, \lambda, \alpha)$.

Theorem 8. Let the functions $f_j(z)$, (j=1,2) defined by (16) be in the class $TR(\eta,\lambda,\alpha)$. Then the function h defined by $h(z)=z-\sum_{n=2}^{\infty}\left(a_{n,1}^2+a_{n,2}^2\right)z^n$ is in the class $TR(\eta,\lambda,\mu)$ where

$$\mu \le 1 - \frac{4(1-\alpha)^2}{(2n-1-\alpha)^2 \phi(n) - 2(1-\alpha)^2}, n \ge 2$$
(20)

Proof In view of Theorem 1, it suffices to prove that

$$\sum_{n=2}^{\infty} \phi(n) \frac{2n-1-\mu}{1-\mu} \left(a_{n,1}^2 + a_{n,2}^2 \right) \le 1$$
 (21)

From (16) and Theorem 1 we get,

$$\sum_{n=2}^{\infty} \left[\phi(n) \frac{2n-1-\alpha}{1-\alpha} \right]^2 a_{n,j}^2 \le \sum_{n=2}^{\infty} \left[\phi(n) \frac{2n-1-\alpha}{1-\alpha} a_{n,j} \right]^2 \le 1$$
 (22)

On comparing (21) and (22), it can be seen that inequality (20) will be satisfied if

$$\phi(n) \frac{2n-1-\mu}{1-\mu} \left(a_{n,1}^2 + a_{n,2}^2 \right) \le \frac{1}{2} \left[\phi(n) \frac{2n-1-\alpha}{1-\alpha} \right] \left(a_{n,1}^2 + a_{n,2}^2 \right)$$

that is if

$$\mu \le 1 - \frac{4(1-\alpha)^2}{(2n-1-\alpha)^2 \phi(n) - 2(1-\alpha)^2}$$

which completes the proof.

4. Integral Transform of the class $TR(\eta, \lambda, \alpha)$

We define the integral transform

$$V_{\mu}(f)(z) = \int_{0}^{1} \mu(t) \frac{f(tz)}{t} dt$$

where $\mu(t)$ is a real valued, non-negative weight function normalized so that $\int_0^1 \mu(t) dt = 1$.

Special case of $\mu\left(t\right)$ is $\mu\left(t\right)=\frac{\left(c+1\right)^{\delta}}{\mu\left(\delta\right)}t^{c}\left(\log\frac{1}{t}\right)^{\delta-1}$, $c>-1,\delta\geq0$, which gives the Komatu operator.

For further details on integral transform, see also [4].

Theorem 9. Let $f \in TR(\eta, \lambda, \alpha)$. Then $V_{\mu}(f) \in TR(\eta, \lambda, \alpha)$.

Proof By definition, we have

$$V_{\mu}(f) = \frac{(c+1)^{\delta}}{\mu(\delta)} \int_{0}^{1} (-1)^{\delta-1} t^{c} (\log t)^{\delta-1} \left(z - \sum_{n=2}^{\infty} a_{n} z^{n} t^{n-1} \right) dt$$

$$= \frac{(-1)^{\delta - 1} (c + 1)^{\delta}}{\mu(\delta)} \lim_{r \to 0^{+}} \left[\int_{r}^{1} t^{c} (\log t)^{\delta - 1} \left(z - \sum_{n=2}^{\infty} a_{n} z^{n} t^{n-1} \right) dt \right]$$

with simple calculations, we get

$$V_{\mu}(f)(z) = z - \sum_{n=2}^{\infty} \left(\frac{c+1}{c+n}\right)^{\delta} a_n z^n.$$

We need to prove that

$$\sum_{n=2}^{\infty} \phi(n) \cdot \frac{2n-1-\alpha}{1-\alpha} \left(\frac{c+1}{c+n}\right)^{\delta} a_n < 1.$$
 (23)

On the other hand $f \in TR(\eta, \lambda, \alpha)$ if and only if

$$\sum_{n=2}^{\infty} \phi(n) \cdot \frac{2n-1-\alpha}{1-\alpha} a_n < 1$$

hence $\frac{c+1}{c+n} < 1$. Therefore (23) holds and the proof is complete.

Theorem 10. (Radius of starlikeness) Let $f \in TR(\eta, \lambda, \alpha)$.then $V_{\mu}(f)$ is starlike of order $0 \le \gamma < 1$ in $|z| < R_1$, where

$$R_{1} = \inf_{n} \left[\left(\frac{c+n}{c+1} \right)^{\delta} \cdot \frac{1 - \gamma (2n-1-\alpha)}{(n-\gamma) (1-\alpha)} \phi(n) \right]^{\frac{1}{n-1}}$$

and

$$\phi(n) = \frac{(\Gamma(n+1))^2 \Gamma(2+\eta-\lambda) \Gamma(2-\eta)}{\Gamma(n+\eta-\lambda+1) \Gamma(n-\eta+1)}.$$

Proof. It suffices to prove that

$$\left| \frac{z \left(V_{\mu} \left(f \right) \left(z \right) \right)'}{V_{\mu} \left(f \right) \left(z \right)} - 1 \right| < 1 - \gamma \tag{24}$$

we have

$$\left| \frac{z \left(V_{\mu} \left(f \right) \left(z \right) \right)'}{V_{\mu} \left(f \right) \left(z \right)} - 1 \right| = \left| \frac{\sum_{n=2}^{\infty} \left(1 - n \right) \left(\frac{c+1}{c+n} \right)^{\delta} a_{n} z^{n-1}}{1 - \sum_{n=2}^{\infty} \left(\frac{c+1}{c+n} \right)^{\delta} a_{n} z^{n-1}} \right|$$

$$\leq \frac{\sum_{n=2}^{\infty} \left(n - 1 \right) \left(\frac{c+1}{c+n} \right)^{\delta} a_{n} \left| z \right|^{n-1}}{1 - \sum_{n=2}^{\infty} \left(\frac{c+1}{c+n} \right)^{\delta} a_{n} \left| z \right|^{n-1}}$$

the last expression is less that $1 - \gamma$ since

$$|z|^{n-1} < \left(\frac{c+n}{c+1}\right)^{\delta} \frac{(1-\gamma)(2n-1-\alpha)}{(n-\gamma)(1-\alpha)} \varphi(n)$$

so the proof is complete.

Theorem 11. If $f \in TR(\eta, \lambda, \alpha)$. Then $V_{\mu}(f)$ is convex of order $0 \le \gamma < 1$, in $|z| < R_2$, where

$$R_2 = \inf_{n} \left[\left(\frac{c+n}{c+1} \right)^{\delta} \frac{(1-\gamma)(2n-1-\alpha)}{n(n-\gamma)(1-\alpha)} \phi(n) \right]^{\frac{1}{n-1}}$$

using the fact that f is convex if and only if zf' is starlike, the proof can be easily derived.

AcknowledgementThe work presented here was supported by MOHE: UKM-ST-06-FRGS0107-2009

References

- [1] R.Bharati,R.Parvatham and A.Swaminathan, On subclass of uniformly convex functions and corresponding class of starlike functions, *Tamkang J. Math.*, 28(1) (1997), 17-33.
- [2] A.W.Goodman, On uniformly convex functions, Ann. Polon. Math., 56 (1991), 87-92.
- [3] A.W.Goodman, On uniformly starlike functions, J. Math.Anal. Appl., 155(1991),364-370.
- [4] Y.C.Kim and F.Ronning, Intgral transform of certain subclasses of analytic functions, *J. Math. Anal.* 258(2001),466-489.
- [5] W. Ma and D.Minda, Uniformly convex functions, Ann. Polon. Math., 57(1992), 165-175.
- [6] S.Owa, Some properties of fractional calculus operators for certain analytic functions., In: M.Darus and S. Owa, editors. Proc. Int. Symp. on New Development of Geometric Function Theory and its Applications (GFTA2008), 2008 Nov 10-13, Bangi, Selangor: Malaysia, 2008. p. 214-221.
- [7] F.Ronning, Uniformly convex functions and corresponding class of starlike functions, *Proc. Amer. Math. Soc.*, 118(1993), 189-196.
- [8] F. Ronning, Integral representations for bounded starlike functions, Ann. Polon. Math., 60(1995), 289-297.
- [9] A. Schild and H.Silverman, Convolution of univalent functions with negative coefficient, Ann. Univ. Marie Curie-Sklodowska Sect. A,29(1975), 99-107.
- [10] H.Silverman, Univalent functions with negative coefficients, *Proc. Amer. Math. Soc.*, 51(1975),109-116.
- [11] B.J. West, M. Bolognab, P. Grigolini, Physics of Fractal Operators, Springer, New York, 2003.
- [12] K.S. Miller, B. Ross, An Introduction to the Fractional Calculus and Fractional Differential Equations, Wiley, New York, 1993.
- [13] S.G. Samko, A.A. Kilbas, O.I. Marichev, Fractional Integrals and Derivatives: Theory and Applications, Gordon and Breach, Yverdon, 1993.

- [14] I. Podlubny, Fractional Differential Equations, Academic Press, San Diego, 1999.
- [15] M. Caputo, Linear models of dissipation whose Q is almost frequency independent, Part II, J. Roy. Astr. Soc., 13 (1967) 529.
- [16] R.J. Libera, Some classes of regular univalent functions, *Proc. Amer. Math. Soc.*, 16 (1969) 755-758.
- [17] G.S. Salagean, Subclasses of univalent functions, in: Lecture Notes in Math., vol. 1013, Springer-Verlag, 1983, pp. 362-372.

Jamal Salah and Maslina Darus*
School of Mathematical Sciences
Faculty of Science and Technology
Universiti Kebangsaan Malaysia
Bangi 43600 Selangor D. Ehsan, Malaysia
Emails: damous73@yahoo.com*maslina@ukm.my